AETERERE Iz BB 1B = 2P - EREUED
10R12H
[ TIEHRERE ] Bk
X% [ £7 3EKEESEFEEZRRAFRME GFA) K& ]
[E1&) ( 2@ ) (9:54 ~ 12:23)

F—L%| 1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15 Hi
ZmRi| 0 0 0 0 0 0 0 3 0 3
e gefm [ 1 1 0 2 0 0 0 1 X 5
ZaRit R IRREE &R

®OF R KH ¥ F M

m F FH W F A

REFT REFT

=27 T =847

(R SE)

[(ZE2:Aa] ( 2@ ) (13:10 ~ 14 :47) 5Ea—iLK

s—uz| 1|2 3|s]5s5]|e| 78] ofw|1r|2]13]1]15] &

B 0 2 0 5 12 19

ZBRI| 0 0 0 0 0 0
¥l SLES ZARRT &R

% F HEEE B OF W= ‘Ek A

WmoF EEE WoF P

REF] REF]

=247 =847

—2%7 —i]

G SES)




